

الأعداد العشرية النسبية (مراجعة)

التمرين 1: أحسب ما يلي:

$$Ah = 10 - (-0,1)$$

$$Ai = 3 + (-3) \times (-2)$$

$$Aj = (-2) \times (-5) + (-3) \times 4$$

$$Ak = 2 \times (-4) - 5 \times (-3)$$

$$Al = (-1) \times (-3)$$

$$Am = (-1) \times (-3) \times (+2)$$

$$An = (-1) \times (-3) \times (+2) \times (+2)$$

$$Ao = (-1) \times (-3) \times (+2) \times (+2) \times (+2)$$

$$Ap = (-1) \times (-3) \times (+2) \times (+2) \times (+2) \times (+2)$$

$$Aq = (-1) \times (-3) \times (+2) \times (+2) \times (+2) \times (+2) \times (-1)$$

$$Ar = (-1) \times (-3) \times (+2) \times (+2) \times (+2) \times (+2) \times (-1) \times (-10)$$

$$As = 8 + 12 \times (-5)$$

$$At = 15 \div (-3) + 10$$

$$Au = 9 + 6 \div (-3)$$

$$Q = 5 \times (-4)$$

$$R = (-2) \times 7$$

$$S = (-0,2) \times 17$$

$$T = (-8) \times (-3)$$

$$U = 2 \times (-7)$$

$$V = 0,2 \times 17$$

$$W = 8 \times (-3)$$

$$X = (-5) \times 4$$

$$Y = 5 \times 4$$

$$Z = (-0,2) \times (-17)$$

$$Aa = (-2) \times (-5) \times 3$$

$$Ab = 3 \times (-5) \times 2$$

$$Ac = (-4) \times (-2) \times (-5)$$

$$Ad = (-100) \times 0,1 \times 10$$

$$Af = (-3) + (-5)$$

$$Ag = 10 \times (-0,1)$$

$$A = (-2) + (-5)$$

$$B = (-4) + 7$$

$$C = (-3) - (-2)$$

$$D = (-2) - (-3)$$

$$E = 7 + (-9)$$

$$F = (+3) - (+9)$$

$$G = 7 + (-3)$$

$$H = (-7) - (-2)$$

$$I = (+7) - (-5)$$

$$J = (+4) + (+7)$$

$$K = 2 \times 7$$

$$L = (-2) \times (-7)$$

$$M = (-8) \times 3$$

$$N = (-5) \times (-4)$$

$$O = 0,2 \times (-17)$$

$$P = 8 \times 3.$$

التمرين 2: أحسب ما يلي:

$$N = 8 - 6 \times (-5)$$

$$O = (+12) - (-3) \times (+7)$$

$$P = -6 - 8 \div 2$$

$$Q = (-35) \div (-7) + (-3) \times (+8)$$

$$R = -5 \times (+6) - (+8) \div (-2)$$

$$S = (-2) \times (-5) \times (+3) \times (-2) \times (-4)$$

$$T = 6 \times (5 - 9)$$

$$U = -7 \times (-3 + 8)$$

$$V = 5 + (9 - 6)$$

$$W = (6 \times 5 - 3) \times (7 - 2 \times 6)$$

$$X = (9 \div 3 + 5) \times (7 \times (-4) + 2)$$

$$Y = 5 - (-7 + 13)$$

$$Z = (-3 - 6) \times (6 - 8)$$

$$A = (-5) + (-2) \times (-3)$$

$$B = (-3) \times (+8) + (+14)$$

$$C = (+6) \div (-3) + (-8)$$

$$D = -6 + 3 \times (-9)$$

$$E = (-15) - 18 \div 3$$

$$F = 9 - ((-7) + (-4))$$

$$G = (+24) \div (-6) - (-6)$$

$$H = -9 - 5 \times (-3)$$

$$I = (-9 - 3) \times (-3)$$

$$J = (3 \times (-2) + 5) - ((-4) + (+9))$$

$$K = (-8) - (-4) \times (+7)$$

$$L = -5 \times (+3) + 7$$

$$M = (-7) \times (+2) + (-8)$$